7.42
0,20 : 2,64 : 1,88 ¥ 2,50 0,20
o
&
=)
ps f_’é 1
- )
S 08 \olg
B: Fliesen B: Fliesen F:1,76 m? 9
F:4,12m? F: 4,67 m? o °
g o4
IS 200 ST
N . 1,04 L 071 1,08 1,96 2
ol °
88 / I 88 / 2
— S
0= pue
k=4 o - - Q
i i
0] 3| = 0|
Wohnzimmer Schlafzimmer =
3 8: Teppich 0.59 8: Teppich =
ol F: 10,57 m? =t F: 12,52 m? o
o o
R R
/ \
o (=3
o sls 0 0 sls o
s g2 ERN ER g2 s
=) =)
3 3
B o
020 | 329 0,10/ | 3,63 0,20/
7.42

Reihe C_EG

5,40

0,20,

0,10, . 2,00

2,90

2,50

0,20;

742

0,20;

2,64

1,88

2,50

0,20,

o
N
S,
0|8 o
o
B: Fliesen B: Fliesen F:1,76 m? )
F:4,12m? - F:4,67 m? -3 o o
70 1
S
2 404 071, 108 o
8
» S
o8 a8 3
g S =
) ) Ei
o
b= ~! [T
Wohnzimmer Schlafzimmer St
B: Teppich 0.59 B: Teppich <!
F: 10,57 m? =t F: 12,52 m? S|
o o
R 4
— | — ]
o
ols N o ola IS
88 a8 o8 83 S
g2 2R g 2|8
o
3
I
3,29 0,10/ | 3,63 0,20/
7,42

Reihe C_1.0G



